mﬁf% sssaaasnmn 2017 7

| ? o
o (0 A
HEHE S +38 BEU
SPETolie 2Rl =st 42 XYSH| AsH “OIStL Tt FYRKAY'S
ofeigh 2ol SYPFLICL FUoIRL WL BT Hoi HiLIC

-

O 288
| =2|2h 12017, 2, 1 ~ 2, 28 / 42t
| USE | SEfelEAE, stsEME S

(055) 772-0772

| WS7|7H| 2017 3. 6(8) ~ 7. 28(2)

o
Zemsplar) HuTS?

(055) 751-3529

© AHAH *

AL o
HZAZ £ 92

RIL) = Lo
e e 2017|3 e
(512 2 Olh Selnis Szt 40% xlg) WEREL r————
191 124540] Bhs) x| gt genl W2 ==
© £EI|ZE HrAlLQ 70% OJAt ol BEREDIEH Y | SH 805-01-872228

O 2T

ZAIE
1, ZAoisin WAWSAGH 2F)

LA

| A |

X2 | URAIBKISIEZR|TA} Zef | 352k | 5(19:00~23:00) | 90AIZE | 40
WO | LIEOZ MEfSIESEIXRI| o|xHiA 2022 | 3(19:00~22:00) | 40A[ZF | 30
Wk | OlECR HI=ZO 2o 158K | 319:00~22:00) | 40A|2+ | 30
X2 | oUEZ HEOl Hig|AE} 22 =742 9| | 200k | 3(19:00~21:00) | 30A[Z} | 30
o | X5 MEI0{Ess mejazepzisxy | J2|IAEl X | 202! | 2(19:30~21:00) | 30A|1ZF | 30
Wk | Z=lsl QU SHcHoIs) 21704 158K | 2(19:00~22:00) | 40A|2F | 30
2, ZEts =Sty EM W=7 o)

X[z | ALX|K|ZAL CH=CES 358k | 2(18:30~22:30) | 90A[ZH | 30
Wk | 22| 22 = 22 |uA AZo} 15821 | 3(10:00~13:00) | 30A|ZH | 30
Wk | EfRAED|E PN 182H2] | 2(19:00~22:00) | 45A|ZF | 30
WO | CIXK|EHARRI Al SN 202k | 2(19:00~22:00) | 45A[ZF | 30
WeF | AIMESK|E M2 188K | 2(19:00~22:00) | 45A12F | 30
wek | 7| o= FEiMOienlY ) Mo 2022 | 2(19:00~22:00) | 45AI2¢ | 20
WOF | SIEL|F} WAl AN 158k | 319:00~21:00) | 30A|Z+ | 30

ol A ol

42 JUA]
2t DA} 4% JHL=IR| B _
= AMIZESE 25l

L azelelo] 15d
= 2

%k

7Hel™

N

Ls= T /\A%
2AH| CHHSHK| L2
X QHMALLIO|| CHo otsSot - CHefoAM= 2| MUX|K| 2=

_/

Jin> OF S T



H| 1

by
m]

RO
£l

Il
Bl

(o]

no
o
K<™
o LA ujr
<IT'K KF
HCRT
ol ol K

LH
i

I —
M _ ol
= o

i
3

WAH| HE

—_1
=]

—

o

| K| AL 2
|:7|_

=

I X
NEE

2

Lu|

=rur
M 5
Hl R
o0&

ER
o K003

o514

%@E

UK <

_._l

W= o
uo<TR0

—A —_
T OH
KHi&d

Rl

<6100
plilgs
*z
Nox
_AA_IH_—I od

:._._zoq

UL 51 ofo
WUHFS
aﬁw%

—_

i T joT
Uy

ml

BEIURKN NEK

. ~O
of M 7o
ol OF <z
P
sor 1
YER

oo 3

IRy

o8 o<k
ol

A

tel Z[&ojct, Z=MAILY O|HMFH

°

of tiat2 MEste Z4E

=

= =

ura
o
—
[

70 4
T T =S

<Fo o o<

Ng 7

2| A4 1}

ool Sl
| B s=2 Aelmm ek

AL

s

|

i
=0| 712

5t
Hed
al

5
20|

—_——

0= ol

9

A~
=

CHol

°:

i

<0 R<

0 0=

]

CH2
[e]]
o

HEZ

=
[=]

.I

of

00

G
ol g
2l
wond
o0 T

_

o
30
ol
20

no
__An_

Bl
ﬂﬂ
U=

[0

| X| K| A}
25

AL

<

LAKC

—

[

F2 L7}
O|HAM HAM

o

X2
L7}
al

[

13




